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e {2.32)(a) The median for all
' "ti?ée data sets is 10. (b) Set 1: X = 10; Set 2: X = 27.6; Set 3: - -
e = 207.6 (¢) The median is unaffected by the outlier, the mean
gets higher and higher as the outlier becomes more extreme. T T -

2.37 (a) Mean: 2; medi
an: 0; and mode: 0 (b) Mean: 10; U mean
i s and mode; ) median: 0. Outlier affects mean - T

SO o i e b e e b e e @(a) 0 17 (b) 0 ..... - o S N
(¢) Median: O mean: 1.95; (d) The median is the same for both
because the median ignores much of the data. s

@(a) Range = 6 six days separate the fewest
T and most sick days taken. (b) s = 2.38; the typical distance of o ; S o o

an observation from the mean is 2.38. (¢) Range = 60;
“ standard deviation = 21.06. Both increase when an outlier is et e e
added

o @ (a) Africa because the spread of the data is greater. ___
(b) Western Burope: s = 1.0; Africa:s = 71. - e

e QD) 67. () Q1 = 4503 = 75, gy 625, e

= 25,
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a) 12 is best; —10 is negatlve

B (not possible); 1 indicates almost no variability; 60 is almost as
~large as the w}_ i U
nonnegative, *

2) 6) /65 /7) 2,3 25, ,27, </~7, 50
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o (ii) 5.75. Connect the points (x =10,y = 647) and (x = 40,
y = 5.75). (b) The y-intercept indicates that when a person e -
" cannotdo any sit-ups, she/he would be predicted to run the

oo d0-yard dash in 6.71 seconds. The slope indicates that every = — -
increase of one sit-up leads to a decrease in running time

e 0£ 0.024 seconds. (¢) The slope indicates a negative @~ 00— e
correlation (the slope and correlation have the same sign.) )




